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N. B. 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.

Q. 1) Attempt any two: 15
A. Explain the short run equilibrium of a firm under perfect competition.
B. What are the features of monopoly.?
C. Explain the concept of production cost and selling cost.

Q. 2) Attempt any two. 19
A) What are the conditions of third degree price discrimination?
B) Examine the marginal cost pricing method.
C) Calculate the mark up if price of the product is 50 Rs., average fixed cost
is 10 Rs. and average variable cost is 20 Rs.

Q. 3) Attempt any two: | 15
A) Explain production efficiency and inefficiency with the help of a diagram.
B) "Market fails in the provision of public goods" explain.

C) How does government corrects market failure.

Q. 4) Attempt any two. : 15
A) Explain the stagesof capital budgeting
B) What are the advantages and disadvantages of pay back period method?
C) cost of project A is Rs. 20,000, cost of project B is Rs. 5,000 and cost of
capital is 10 % per annum. From the following table calculate the Net Present Value
of the project A and B and choose the best project.

Years | Net cash flows (Rs. lacs)
Project A Project B

1 20000 10000

2 15000 8000

3 10000 7000

Q.5 A) State whether following statements are true or false with reasons. (any four) 8
1) Legal protection is a source of monopoly power.

2) There is a single seller in oligopoly market.

3) Dumping is international price-discrimination.

4) Legal sanction is a condition of price discrimination.
5) Private goods are excludable.

6) Externalities cause market failure

7) Internal rate of return method has no limitations.
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B) Select the correct answer from the alternatives given and rewrite the answer.
(any seven) 7
1) Demand curve under oligopoly is

a) kinked b) perfectly elastic ¢) perfectly inelastic
2) Selling cost is a feature of

a) perfect competition  b) Monopoly ¢) Monopolistic competition
3) Average revenue > Average cost, means

a) normal profit  b) loss c) super normal profit
4) Under dumping, demand curve in the foreign market is

a) perfectly inelastic b) Unitary elastic c) Perfectly elastic
5) When a doctor charges high fee from rich person and less fee from poor,

it is known as _____ price discrimination.

A) time b) age c) personal
6) ____ pricing is known as mark-up pricing principle.

a) Full cost b) marginal cost  ¢) multi-product
7) When goods and services are not distributed according to consumer's

preferences it is known as

a) productive efficiency b) allocative efficiency

c) ailocative inefficiency
8) ____goods face free rider problems.

a) private b) public c) capital
9) _____ is acause of market failure.
a) positive externality b) negative externality c) complete information
10) A project is not acceptable when “internal rate of return is ___ market

interest rate.

a)= b) > ¢)<
11) ___ method does not consider present value of money.

a) Net present value  b) Pay back period ¢) Internal rate of return
12) Present value means

a) discounted value of future cash flows

b) compounded value of future cash flows

c) interest on future cash flows.
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